Tsarist Russia in 1855.
You are Alexander II. How would YOU solve Russia’s problems?

Please complete and submit on Show My Homework.

	
	Problems


	Possible Solutions

	Military

Difficulties preventing

Russian military success


	· Large army of poorly treated serfs

· Lack of supplies & modern weapons
	

	Political

Difficulties in the way

Russia was governed


	· Autocracy and no 

Constitutional gov’t

· Imperial Council of State appointed by Tsar & often ignored

· Rule by fear 

· 3rd Section – political police

· Corrupt civil service

· Excessive bureaucracy

· Lack of political freedom

led to violence

· Weak police force

· Large army of serfs

· 1848 lib. revolutions met with more repression in Russia

· Without reform from above rev. was certain


	

	Economic

Problems facing Russian

industry and agriculture


	· Cheap serf labour force

· Strip farming prevented new agric methods 

· Many l’lords in debt

· Very small middle class

· Popn grew fast in 19th C & strained ltd resources

· No all year ice free port 

· Undeveloped banking system

· No labour pool or local demand for ind. Produce

· Per cap income v. low

· Poor roads & r’ways


	

	Social

Difficulties in the way 

that Russians lived in  

together in society


	· 50m serfs: ½ privately owned; ½ state owned 

· Censorship, ltd education and travel led to incr. in frustration amongst the educated few

· Pogroms vs Jews


	


